


fm
ﬁﬂﬂﬂﬁ%am&mga:%qmmﬁn@amﬁaﬁﬁqﬁmﬁwmamﬁwwwg
TG TR e S0 & WSS H ST Wi o wre e R 7 7

(@) wEmE T (b) Rede Fraw

(c) Heam wgs M (d) uRacdR Haf powerpoint
Which option can be used to set custom timings for slides in a presentation, to make MS FFo
automatically flip slides in sync with your speeches ?

(@)  Slider Timings &(_%/ Rehearse Timings

() Setup Slide show (‘cﬁt Transition Duration

fArfafeT sves g e &

23@ + 5@ + 1@4@ + 4@ + 18@ = 154@

@ g o sies &t exifar @ 2

Consider the following expression :

23@ +5@ + 1@4@ + 4@ + 18@ = 154@

Symbol @ stands for which digit ?
(@ 2 (b) 1 M (d) 3

Hiﬁa’lg.ff.ﬁ@'@ﬂﬁﬁﬁﬁﬁﬁarmw%eﬂuﬂﬁaaﬁzﬂmﬁmméiaﬁﬂgﬁa{rﬁaﬁmﬂm‘g
&t ggd a1 &, f a8 frad ooy & el & &R ugd urg ?

() ﬂgazsﬂémﬂaﬂwwﬁaﬁa%mq—gwa
(b) ﬂgﬁsomﬁaﬁmmﬁmﬁw%ww%i
(c) Bger 25 dehs F snfeer & SR g1 ¢

(d) Ager 30 A58 H e & SRR g &

In a race, Mehul touches the finish line in 60 seconds and beats Aditya by 20 seconds. If Mehul gives '
Aditya a head start of 10 seconds, then in how much time will he be able to catch up with Aditya?

Mehul catches up with Aditya in less than 25 seconds.

Mehul catches up with Aditya in more than 30 seconds.
Mehul catches up with Aditya in 25 seconds.
Mehul catches up with Aditya in 30 seconds.
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g Tel e aTATaRUT T IR gy 25
(ay dftda eE-Riss darg

(b) fRveror TETaeE W Y Rifder

(c) % HIATE

(d) e aRom

What is the essence of

41.

an effecti
an effective classmom environsmait ?
(a) Vibrant student teacher interaction

(b) Variety of teaching aids
(c) Strict discipline

(d) Evaluation results

Q2 & e sena R ) e o 5

8l e e (b)  aifirare fian
(c) gof srfiery (d) SRRt $r g

Which of these is not mentioned in Person with Disability (PWD) Act ?
(a) Equal Opportunity (b Compulsory Education
(c)  Full Participation (d) Protection of rights

43. eﬂiﬁlﬁ%ﬁmmw%aﬂzﬁrmﬁﬁm%@aﬁmmmﬁam%?
() |ITE for (b) R e
(c) = e (d) AT A

Moving from abstract to concrete thinking represents which of the following characteristics of an

adolescent learner ?
(@ff Social Development (b~ Intellectual Development
() Moral Development (d) Emotional Development

44, ﬁfsrwﬁnﬁ%aﬂ@mmmm&rmmaamﬁ%@aﬂﬁ%?

(a) ¥Ry (b) HeHTHA

() R afafafaf (d) w@-gegie

Which of the following components of instruction is not aligned with effective teaching ?
£ —— - 7

(@)  Learning Objectives (b) Assessment

(€¥” Instruction activities ~ (d) Self Appraisal

PG-01/B 12



36.

40.

Raa =t &Y fifar
> . o amenfa TEET 8,

WER G Frgaa sifg e Aot it cafdere & e ok g sramaet!
Gﬂﬁﬂ'&jﬁaqﬁmgl
@ wfde (b)  Sichefor () uRarE (d) STERE

R & & arery 3 3y w0 @1 w9 RS-
(@)  PUAT IAIST 7 Srararar 33 i FT IR
(_b) WWWQTWT@@W#

(¢ T T Srammrer 33 oy g
(d)  STTST T HuaT Srgenrr 27 &Y Fur o

HEETRIET & HiY fBeds 2:-
(a) THET+IMHIET (b)Y WEASMBET () HE@T+SHET  (d) HEd+IMehiE
et arert =t 9g =u @ svag ¢ |
. &4 9g 99et ot T1feu iy

(@) 9% Ger Ty & ok ag off A g s

(%) e St e Siferen T, g ofRk uRwga

(&) gl 78 8 oik 59 fog 9ga ge a&

(@) o AHa Sfa & geva srpufaat
. s & SuRerig |
@ @ @@ @ 6 @@ @ @60.0.@ @ @@ - e

Aefifay geasl/eaRat s aed Suga o 3 ar e X |
St 72 SR, N a9 A ISt @1 31 6-
(a) THY I TG G HE H ALY
(b) o & ger-aae d Tl AT
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5. Pl § & o ar gt & vge 7T tasm =8 2 2

Which one of the following is NOT a mathematical function used in spreadsheet ? .
@ SuM () (b) ROUND () (¢f LINE () (d) COUNTIF() 4%
=, ..;_'b
: I
6. 3l IuTeyg Gemai p afik Q &1 LCM, (P > Q) 1073 &1 21 damait 2 fter a1 aiek & 2 Kl
LCM of two prime numbers P and Q, (P > Q) is 1073. What is the difference between the twi
numbers ?
(@) 8 (b) 12 (© 6 (d) 14 \5@
s
7. TR A" 2 e e 2 7 e
(@) HISH it fife awa gwa a] wifSi & Ster s 8 ’KC’ \'\\‘ \',@L
Q
(b) wfS it fife awd g qIfe Wit & Siter Siran 1
(c) ST it fife oo T g8 & agfET var & Siter Srar 21 p { \4§'
"’C\
(d) B S e o=a Ty g8 & S8R el §d gl
What does the term "gutter margin" refer to ? S‘ \ } (0q%
(a) Margin that is added to the left margin when printing, m
(b) Margin that is added to the right margin when printing, \ % 3
| A\ 2
( Margin that is added to the binding side of page when printing. 3“43:\ : ﬁ‘i 62
(d) Margin that is added to the outside of the page when pn‘g‘ng. 5 _'?’ﬂ:
o8 -/f:\ ; \ 1)\ %L
- - X —q \04@5 —
8. &S 8@ & g UE T1d hiforg| Uy Tl |
Lo %
Find the missing term in the given series, nd
¥ ) Ra

2,9/2,28/3,65/4, |
(a) 126/5 9/95/5 %} 113/5 @ 5 :

0. ufmAReiwad S eem A mad s Redmmmd (@

@ g e A (b) = oheifies A

(c) g e ifd (d) g Ere A

The "National Credit Framework" has been formulated to fulfil the vision of : :

(a) National Education Policy (b) New industrial Policy a (’% ; :
(@) National HealthPolicy <, ¢ ||

(c) Biofuel Policy

. r B G ffFox wm T
N £.FFST Oysichiied



e L// | 1

e PR g s F, "INDIA" @ "HMCHZ" ey sirar 1 o die Ao # "CONSTRUCT! 7 &4 forar. |

e 7
In a certain code language, “INDIA” is written as “HMCHZ”. How will “CONSTRUCT” be written ‘

in the same code language ? |

-

() BNSQTMRBS (b) MRSBNQTAP (g BNMRSOQTBS  (d) BNQTMRSAT l
| ssg-illh
voygfRey fé 3 wlfer o PR ahertf R v e : e,
| 55 =T~

(1) @ dfd AR qruwrelt wr sireRa el e w0 &) /3%?3,}‘%(,

(2) & ol A 3R Rfdem At @ shomé 2 e gan 1 o

o g g syt § 3 B a1/8 9 8/ 2

() e (1) (b) &t (2) © @dREIA (d) Far (1) RAF Q) -.
i |

Consider the following statements with respect to the “Pattachitra” painting : - \‘ 6 & |
(1)  These paintings are popular art form based on temple traditions. g F< %% '

: i |
(2) These have received Gl tag from both West Bengal and Odisha.

Which of the statements given above is/are correct ?

(@) (1) only (b)  (2) only (©) Both(l)and (2) (d) Neither (1)nor (2)

<1 372 ZETeR % U, 558 A & O ok 1116 T & Ot urH dfgRvdt # S red &) 6 e, 96
ude e fi srer-areT et ST =TEar 2, arh &% ufe & Fa U@ UaR & 9d g =ifeg| Sae
dfeerdt &t RFTaE T 16 ?

(@) 8 b)) 11 (¢ 14 (d) 16 A
Ramesh wants to plant 372 tomato plants, 558 chilli plants and 1116 onion plants in equal rows. Also,};rj
he wants to make distinct rows of each plant, i.e. every row should have only one kind of plants.-..-:':'
What are the minimum number of rows that are required ? '

@ 8 G 1 © 14 d 16

v 1 4 e ot 8 e e & gt s s ot ofve 2o 2 R Piares Rt 3 €t
(a) smfpsfiamenr ¢ o (b) SRRHTEH AR
(©) el few amer - ey ) et Sre wre

In which of the following judgments, Supreme Court held that the harmony and balance
between Fundamental rights and Directive principles of State policy is part of basic structure ?

(a) Bhim Singhji Case | (b) Indira Sawhney Case
() Minerva Mills Case (d) Kihoto Hollohon Case

PG-01/B 2
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14. mﬁ“ﬁﬁﬁrﬂ@mﬂaﬁ?%l‘dﬁmﬁmﬁaﬁzg@m%xﬁamglmagmﬁﬁﬂ?w%@
st g of s & S

gggzammﬁlmm.aﬁmﬁmﬁﬂizsrﬁaméimaﬁm
e &1 ofe 8, 7 2 R TE & 3R 40 e et &1 reves fig @ o g v RAT A€ ?

(a) aferor-gfis (b) af&or (¢) So-uffm (d) afavor-gd

Amit faces ‘s T o
i aces North initially. Turning to his right he walks 25 metres. He then turns to his left and
s SII;other 30 metres. Next, he moves 25 metres to his right. He then turns to his right again and
2 M > ¥ 2 !
etres. Finally, he turns to the right and moves 40 metres. In which direction 18 he r\%wvu
@ 0

from the starting point ?
)  South- ot
uth-West (b) South () North-West (d) South%t G/f\},%uj_:n

! :
. X0
i %ﬁ;ﬁmmm:ﬂmﬁwnﬁm&m%ma wmﬁﬁ%id”
R A afag & wfrer ated Y o F a2 F1 g R A Rt W E 2 ng"A\A: (.
@ 18 ®) 36 © @) FRAAREAT

In thre
o Al % z:loured boxes - Red, Green and Blue, 108 balls are placed. There are tw ice as many balls
green and red boxes combined as there are in the blue box and twice as many in the blue box

as there are in the red box. How many balls are there in the green box ?
(d) None of the above

) 1 (by 36 © 45
16. =2 & 718 STHR i egdE Ue! e
! A+Batafg'A, Barfiard| ¢ (= N -
i A-Bar g 'A, BH ot &' 0(/£b\¢ &

| AxBaETHf A, B R A = Vi
| A+BHEIAHfg A BRIOE u\g/ﬂ

aRPxR-Q 4 Prefafld & @ & 1 9 g ARy 2

) P,QEmaEiie () PQFwER
() P,Q@ IR | d) P Q@ g
Read the mfcrmaﬁ(;n given below carefully. (@ -
A + B means A is father of B’ I
A - B means ‘A is wife of B". _ e
A x B means ‘A is brother of B". ' e

A + B means ‘A is daughter of B'.

If P x R - Q, then which of the following must be true ?
(b) P isbrother of Q
(d) P is father of Q

(a) P is brother-in-law of Q
(@ PisuncleofQ

PG-01/B 5 P.T.O.
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10. WWWWW(WW]a;MﬁWMWWﬁ:

11.

12,

13.

1) wm@mmm%nqmm*W@WW#I
(2) Ug aT HERT & I Rl S e @ R et arfyaret & arwTa SR IEEA | O qrve 4y
wa; | A gl |
SR g T el A & i H1/8 et /8 2
(@) (1) (b) () @& @eR@Ea (@ T MRAEH Q)
Consider the following statements with reference to the National Commission for Protection of

Child Rights (NCPCR) :
(1) It is a statutory body under the administrative control of the Ministry of Women & Chilg

Development.
It inquires into violation of child rights and takes suo-motu notice of matters relating to
deprivation and violation of child rights.

Which of the statements given above is/are correct ?
(b)  (2) only (¢) Both(1)and (2) (d)

)

(@) (1) only Neither (1) nor (2)

F SRATE! & FROT, G AR 3 Rt s o 6 @ qom e & o, 39 W 9 & RS @ Ram
HT wfom # wfcrd 3fe 0 e, sifa wélt we & pRea e d R A g ? |

Owing to some negligence, instead of multiplying a number by 6, a person divided that number by
9. What is the percentage error in the obtained result, i.e. the error as a percentage of the correct

value ? O\ "
(a) 98.14% (b) 88.28% () 80.8% . (d) 96.66% X ?'
N \
PrerfeifRr sjzae & g ve T i) | ) /f\ﬁ "
Find out the missing terms in the following series. 5\ 4 : (Q £ it (E;
A,D,],S,ET,?,7?
(@ GN ) E]J o LG ) KH
Aefaf@s gt = fRar & ;
WhTiferes Tahd (Siemg)e ]
(a) | SHEHT Boat | e
(b) | 55 Mt darerse | sreumrae e
BRELGES | ;| ontfsam
IRiad & @ fha g Tgl gaferd 82 | TIE oA 0 it
() 3w gH (b) Sawa @ W 9 cle) o WE A s
Consider the following pairs: % o
Geographical Indications (GI) tag | : | State s . £
(a)| Kandhamal Haldi : | Rajastt = e e

(b)| Idu Mishmi Textiles o] 2
(c) | Joha Rice . : | Odisha
How many of the above pajxsare com:ctly matched? - ' :
(@ Only one (b) Only two (¢) Allthree (d) None

PG-01/B Rt = |



y/a (b) 1

ES— L
TSI MTRE-erersisft orer arrhver atoren (qaht-chamrtgard) & dasf #, Fr=fafad il

(1) ue Ry o gad wer g A ot e Qar wrda &)

£ 8 B
. - 7 gd cm R
(2) GO 8 atente sl Y aEer e afifes onf srrorr, 2011 & T

(3) oty ey yfReseor (gawey) gadk arafe gy Atee gordt &)
FU g 1 e A @ e o e @ 2

(a) & (1) 3k (2) (b) e (2) 3R (3)
- i
(€) e (1) 9k (3) Ad) (1), (2) MR (3)

' 1 consider
With reference to Ayushman Bharat- Pradhan Mantri Jan Arogya Yojana (AB-PMJAY), €

the following statements
(1) Ttis the world’s la rgest government-funded healthcare program.

) . o A3 BT o , Socio- Economic
(2)  The beneficiaries under the scheme have been identified on the basis of the o { =S

Caste Census, 2011. _/\

(3) National Health Authority (NHA) is the nodal agency for its implementation.

Which of the statements given above are correct ? ~Q I‘ \

: A
(@) (1) and (2) only (b) (2) and (3) only V \/ ‘?\/\ﬂ% : vg{/
(d) (1) (2and 3) TS
7

() (1) and (3) only

4ﬁﬁﬁmmwmﬂmﬂwwwﬁﬁﬁqu@ﬁﬁmm7ﬁdﬂ%’%§ﬁmﬁw
&t foraer &t srasaewan ghft ?

How many gold cylinders of radius 12 ¢cm and height 7 cm need to be melted to make a gold cube

of side4ecm ? 'af 6'- g\/\ ﬁ (V'\J_Té
j (@ 2 G Rl S AT

S e
& A

24. 15 3T 1947 ol i |1 R ar 2 .
(a) SWAAR (b) TEER (¢ wfEr (d) \\maaw
What was the day on 15" august 1947 ?

" m/ Friday (b) Thursday (c) Saturday (d) Tuesday

PG-01/B 5 PED.
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17,

18.

19,

20.

21.

r"\-___-‘————\‘_,_ A r 2

[2.. Yo Cx =2

| )
mmﬁzzﬁatffﬁ,W,W#wﬂz?mﬂaﬁwﬂsmé,éﬁmaﬁgﬁﬁamamﬁamm
‘iﬁlﬂmﬂﬁé?lﬁﬁ%ﬁmmm%aﬁ'a}mmmﬁﬂﬁmmw%?

In a 100 metres race, Gagan starts 30 metres ahead of Raja, but Raja wins the race f\'hile Gaganissyy
10 metres behind. If both start running at the same time, then what is the ratio of the speeds of Raja

and Gagan ?

(.a,} 253 (b) 4:3 {C) 5.3 (d) 3:5
%&%ﬁaﬁwmﬂmﬂwmaﬁmhmwmm gﬁmﬁﬁﬁﬁﬁaﬁﬁﬁg@)m
D T o [ y \s

YT & AT 7 X
Which function in a spreadsheet inserts
select the records (rows) to be displayed ?

(a)  Auto Filter (b) Freeze () Hide (djf Swap

a combo box on one or more data columns that lets you

ST DI o1 Tt 1 ot 7 o St @ o a5 gaE A it ITETI T P B 1000 TR
M % teden ugTe 1 vt 39 it SumR @ 30 50 2t oft, ot G H HE SUBR T F 71 U1 2

@ %100 (b) ¥.110 © %.140 (d) =170

Suman received 5 gifts from her friends in her birthday party one by one. The total cost of all gifts
was Rs. 1000. If the cost of each gift was Rs. 30 less than its preceding gift, then what was the value
of the least expensive gift ? S‘ = |
(a) Rs.100 (b) Rs.110 () Rs.140 (d) Rs.170 o |

LA 1 il
mh%mmﬁ,m@mmr:mammﬁmﬁﬁ%? i '?,; |
In the Font group of the Home tab, which symbols indicate Subscript and Superscript respectively ?

a) Xzand X2 (b) X?and X, (¢) X2and2X (d) 2Xand X2 '

Qe fehett =rered a0t 9% gIf R Ue fhett g &1 13% F TR & R TG 9 SO v gt &1 A
9 favel et 9% w1 o 3R g et g 7% o TR R, 39 16 2 51 o e 21 PR

AR i s
(a)  =Taet & gy &1 20% < g & qe &7 4% ' =e |

(b) TRt & e BT 20% > Ag A T 4% £ e B

(c) et & o ol 20% = N & e &7 4% | o0 i
(), Fraffa e fara s e q0 - 167

On selling one kg rice at 9% loss and one kg wheat at 13% gain, Naved gains Rs. 9. If he sells one kg |
rice at 9% gain and one kg wheat at 7% gain, he gains Rs. 16. Which of the following is true ?

(@)  20% of the price of Rice < 4% of the price of Wheat

(b)  20% of the price of Rice > 4% of the price of Wheat

(€)  20% of the price of Rice = 4% of the price of Wheat

(d) Cannot be determined

PG-01/B ; 6
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25. 13 ol ot 24 TEh TH W B 4 Rl A g gy, orafls 12 NP AT 16 T S AW
5 R 8 e S 10 T T R 1 s ey g <y PG TG 10 1 9 g 2

(a) 3:2 by 231 @ 4:7 (d) 381

12 men and 16 boys can do the same in

13 men and 24 boys can do a piece of work in 4 davs, while
5 i a boy?

5 days. What is the ratio of the daily work done by a man to that done by

(@) 3:2 \vb{:an (c) 4:7 (d gk 5
> ‘mhu%’), w68 )8

26. o et Shage A e H A A SR RRATAE? 2™ e
ey
How do you align text to the center in a document ? ‘Pﬁ, Y %__
[

2 7 (@ Cculr

S

@ Ctri+C B Ctrl+E © Ctr+L

27.  fobdhe a o A e A IR 5 TRt & 135, 128, 155, 230 9 162 T a1 Af IGhT STTelt rél < e -
T S R 4 37 98 T, PR 4 @ s a2 2 ‘"il’gg. _

. \2- %
(a) STl U & ST Y T 180 &) ya s
/{ﬁ STt Ul | &1 1Y 3 186 81 6\" __
| o G

(c)  SrTet Ut ® &Y MY 3 190 §l

(d)  orTelt urd & §=Tg T % 184 §

In a cricket world cup, Virat scored 135, 128, 155, 230 and 162 runs in 5 consecutive innings. If after '
his next innings his average score increased by 4 runs, then which of the following is correct ?
(@) Runs scored in the next inning is 180.
(b) Runs scored in the next inning is 186.

(c) Runs scored in the next inning is 190.

(d) Runs scored in the next inning is 184.

- =

7 8
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